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A (mm) | 1B (mm) mfE(m)
A—1 1,225 3,055 3.74 B
A—2 1,225 3,055 3.74 B
A—3 1,225 3,055 3.74 B
A—4 1,225 3,055 3.74 B
A—5 1,225 3,055 3.74 B
A—6 1,225 3,055 3.74 BHR
A—7 1,225 3,055 3.74 BHR
A—8 1,225 3,055 3.74 BHR
A—9 1,225 3,055 3.74 BHR
A—10 1,225 3,055 3.74 ERiS
A—11 1,225 3,055 3.74 BHR
B—1 2,010 3,660 7.36 BHR
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HEA (mm) B (mm) & (m)
c—1 1,225 3,055 3.74 | BEE(EEES
c—2 1,225 3,055 3.74 | BEE(EEES
c—3 1,225 3,055 3.74 | (AR
c—4 1,225 3,055 3.74 | HECEEEES BEICOLAESHY
C—5 1,225 3,055 3.74 | (AR
cC—6 1,225 3,055 3.74 | BeEm(EEES
c—7 1,225 3,055 3.74 | BeEm(EEES
LEE®EE &t 74.68




